BCNTRES+ BCNTRES+

BCNTRES-
L1ACCEPT+
L1ACCEPT-
EVCNTRES+
EVCNTRES-
EVCNTLSTR+
EVCNTLSTR-
EVCNTHSTR+
EVCNTHSTR-

CLKDES2+ “::EDES‘,
CLKDES2-

AV

BCNT+0..11]

RC

BCNT+{0..11]

BCNT-[0..11]
ROS-READY+|

TD3+[0..15]

TRGDATAH0..15] ROS-READY
TRGDATA-[0..15]

TD3-[0..15]

BCNT+{0..11]
BCNT-[0..11]

ROS-READY+]
TRGDATA+0..15]ROS-READY-

TRGDATA-[0..15]

ROS-READY+3

EVCNTRES+ EVCNTRES+
EVCNTRES- EVCNTRES-
LIACCEPT+ L1ACCEPT+
BCNTSTR+ LIACCEPT- L1ACCEPT-
BCNTSTR+ BENTSTR EVCNTLSTR+ EVCNTLSTR+
BCNTSTR- EVCNTLSTR- EVCNTLSTR-
EVCNTHSTR+ EVCNTHSTR+
EVCNTHSTR- EVCNTHSTR-
BCNTRES+ BCNTRES+
BCNTRES- BCNTRES-
T™C TRG-STROBE+ TRG-STROBE+
BCNTRES+ TRG-STROBE- TRG-STROBE-
BCNTRESH - CLK+ CLK+
BCNTRES- o CLK- CLK-
LIACCEPT+ HACCEE CLKDES2+ CLKDES2+
L1ACCEPT- EVCNTREST CLKDES2- CLKDES2-
EVCNTRESH [TRES-
EVCNTRESH CNTLSTRYT CMD+1..4] CMD+{1..4]
EVCNTLSTR+ = -
EVCNTLSTR+ & qi?é,f CMD-[1..4] TL1A+0 CMD-[1..4] TL1A+3
EVCNTHSTR+ ENTHETR BCNTSTR+ TL1A+ . BCNTSTR+ TL1A+ .
EVCNTHSTR- ESor BCNTSTR- TL1A- BCNTSTR- TL1A-
CLKDES2+ -
CLKDES2- ROSCON ROSCON
CMD+{L..4]
CMD+{1..4] RC_1 RC_4
oMDL4] CMD-[1..4]
BCNTSTR+ BCNTSTR- BCNT+[0..11] BCNT+[0..11]
BCNTSTR- BCNT+0..11] BCNT+0..11]
BCNT-[0..11] BCNT-[0..11]
BCNT+[0..11] BCNT-[0..11] ROS-READY+1 BCNT-[0..11] ROS-READY+4
BCNT+[0..11]| TD1+{0..15] ROS-READ‘H‘—m TD4+[0..15] OS-READY+
g TRGDATA+[0..15] ROS-READY- TRGDATA+[0..15]ROS-READY-
BCNT-[0..11] TD1-[0..15 TD4-[0..15]
TCLK+{0..5] TR TRGDATA-[0..15] T TRGDATA-0..15]
TCLK+{0..5] VCNTRES: EVCNTRES+ VCNTRES: EVCNTRES+
TCLK-[0..5] A PTT EVCNTRES- A P+ EVCNTRES-
TCLK-[0..5] TIACCEPT- LIACCEPT+ TIACCEPT L1ACCEPT+
RCLK+[0..5] Ve - L1ACCEPT- VN RT L1ACCEPT-
RCLK+[0..5] VeN = EVCNTLSTR+ VCN R EVCNTLSTR+
RCLK-0..5] TORTRSTRT EVCNTLSTR- VCNTRSTRT EVCNTLSTR-
RCLK-[0..5] VCNTHSTR: EVCNTHSTR+ VENTHSTR- EVCNTHSTR+
CNTREST EVCNTHSTR- = EVCNTHSTR-
TIMCON BONTRES: BCNTRES+ BCNTRES- BCNTRES+
TRG-STROBEFL BCNTRES- T TRG-STROBE+Z BONTRES-
RGSTROBET TRG-STROBE+ —TRGSTROBEZ TRG-STROBE+
RCLRT TRG-STROBE- RCIR TRG-STROBE-
RCLK-T CLK+ RCLK4 CLK+
ROESTT CLK- RDESOT CLK-
ROESo- CLKDES2+ ROESo- CLKDES2+
BCNT+[0..11] §§= CLKDES?2- CLKDES2-
BCNT-[0..11] CMD+{1..4] CMD+{1..4]
CMD+{L..4] CMD+[1..4]
TCLK+0..5] CMD-[L..4] CMD-[L..4]
TCLK-[0..5] R CMD-[1..4] TLIA+L T CMD-[1..4] TL1A+4
BCNTSTR: BCNTSTR+ TL1A+ s ECNTETRC BCNTSTR+ TL1A+ -
TRG-STROBE+[0..5] BCNTSTR- TL1A- BCNTSTR- TLIA-
TRG-STROBE-[0..5] moscon coscon
ROS-READY+[0..5]
ROS-READY-[0..5]
RC_2 RC_5
LA R em—
TDO-[0..15] BCNT+[0..11] BCNT+[0..11]
BCNT+[0..11] BCNT+[0..11]
TD1+[0..15] ;$= BCNT-[0..11] BCNT-[0..11]
TD1-0..15] BCNT-[0..11] ROS-READY+2 BCNT-[0..11] ROS-READY+5
TD2+0..15] ROSREADY*‘—w TD5+0..15] ROS-READY+ NM
TD2+[0..15] §$= TRGDATA+0..15] ROS-READY- TRGDATA+{0..15] ROS-READY-
TD2-{0..15] TD2-[0..15] TD5-[0..15]
VTR TRGDATA-[0..15] TRGDATA-[0..15]
TD3+[0..15] ;$= —EVCNTRES EVCNTRES+ — EVCNTRES+
TD3-[0..15] — EVCNTRES- — EVCNTRES-
— L1ACCEPT+ — L1ACCEPT+
TD4+[0..15] §2= — LIACCEPT- — L1ACCEPT-
TD4-[0..15] EVCNTLSTR+ VCN = EVCNTLSTR+
EVCNTHSTRT EVCNTLSTR- EVCNTHSTRT EVCNTLSTR-
TD5+[0..15) §5= ENTASTR EVCNTHSTR+ ENTISTR EVCNTHSTR+
TD5-[0..15] BCNTREST EVCNTHSTR- BCNTREST EVCNTHSTR-
BCNTRES- BCNTRES+ BCNTRES- BCNTRES+
RG- BCNTRES- RG-STROBET BCNTRES-
RG- - TRG-STROBE+ RG-STROBE TRG-STROBE+
RCLG? TRG-STROBE- RCLKGS TRG-STROBE-
CMD+[1..4] §5= RCLKC CLK+ RCLKS CLK+
CMD-[1..4] ROESsT CLK- ROESoT CLK-
ROES CLKDES2+ ROES CLKDES2+
TL1A+[0..5] §$= CLKDES2- CLKDES2-
TL1A-[0.5] CMD+{1..4] CMD+{1..4]
CMD+{1..4] CMD+[1..4]
CMD-[L..4] CMD-[1..4]
T CMD-{1..4] TL1A+2 T CMD-{1..4] TL1A+S
BCNTSTR: BCNTSTR+ TL1A+ TOIA BCNTSTR BCNTSTR+ TL1A+ TCIAS e
BCNTSTR- TL1A- BCNTSTR- TL1A- TIMBUS / MAIN-1
ROSCON ROSCON ize Document Number ev
A3 B
Date: Friday, April 22, 2005 Eheet 1 of 17




